Sr Questions Answers Choice

. England
Scotland
Ireland

. Mary land

1 The first ever clone was prepared in 1997 in.

. Gene therapy
. Radiotherapy

. chemotherapy
Cloning

2 The technology used for achieving eugenic aim
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. General to general
. Specific to General
General to specific
. Specific to Specific

3 In deductive reasoning we move from.

22.5%
17.6 %
15.5%
53.4%

4 The number of species of insects are.
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. Paleozoic
. Cenozoic
. Mesozoic
. Protozoic

5 The most recent era is.

. 18%
. 19%
. 20%
25%

6 The percentage of water in human bone calls in.

. Large population of human
. Exclusive nature of life

. Less falsification

. Less temptation

7 Biology is short in laws because of.

. Deductive

. Inductive

. Scientific

. Theocratical

8 The reasoning that moves from general to specific is

Hypothesis
Law
Theory
Deduction

9 The tentative explanation of observation.

Community
. Population

. Biodiversity
. Diversity

10 The number and variety of species in a place in called.

ATP
Glucose
Starch
Karatin

11 Which one serves to build macromolecules.

1%
2%
3%
10%

12 In human body percentage of nitrogen accounts for.

Four
Three
Six
Eight

13 The bio element which account for 99% of the total mass in the human's body are .

1%
2%
3%
4%

14 The percentage of calcium in human body is.

H20

. CO2
C. Starch
D. 02
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15 Which one of these is Macro Molecule.



16
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One of the following is a macromolecule.

The bio element which accounts 18% of total mass in human body is

A. Starch
B. Protein
C. Cellulose

A. Oxygen
B. Hydrogen

D. Nitrogen



